Railway Recruitment Cell, ECR, Patna
ECR (RRC) GDCE-2023

Exam Dates: 10, 11, 12 Jan 2025 & 09 Feb 2025
Details of Changes in Answer Key and Questions Discarded

. Change in Answer Key|
Objected Previous New Discarded
Exam Date | Shift [Exam Group Name | Question c . C . Question Remark Question Description
orrec orrec
IDs ) ) ID
Option ID | Option ID
Question 85
Question Id : 85
vt # wda gar @ R audl et ¥ SR uw i gl § aun oael srie aerdl g gy @t §
Answer Option Id
[EEES 85001
(B) SiiFs fren 85002
(C) wIEHEE 85003
. (D) & 85004
uestion
85 NA NA 85 Q
DISCARDED | questionss
Question Id : 85
_____ arrester consists of a number of flat discs of a porous material stacked one above the other and separated by thin mica rings.
Answer : Option Id
{A) Auto value 85001
(B) Oxide film 85002
(C) Thyrite 85003
Single Group-2 : Junior (D) Horn gap 85004
10-Jan-25 ; Engineer(ELECTRIC
Shift AL) Question 137
Question Id : 137
Prafaf@a & 3 &1 @ pn-siacm 3t s Fafo faf 32
Answer : Option Id
(A) e 137001
(B) HIGA 137002
(© fawm 137003
. (D) A& 137004
uestion
137 NA NA 137 Q ;
DISCARDED Question 137
Question Id : 137
Which of the following is the common making method of pn-junction?
Answer : Option Id
(A) Alloying 137001
(B) Doping 137002
(C) Diffusion 137003
(D) Depletion 137004
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Question 58
Question Id : 258
F; & am B e wivosd g@ &4 s §, 9w o 9F1 il & da s, o wwl  wwior agde o & aiur w afeorst = r) @i
Optio
Change in @ | _ 5800
A K 258004
Single Group-2 : Junior frorr::vée:ioi):D g
10-Jan-25 g Engineer(MECHANI 258 258001 258004 NA P Question 58
Sh]ft 258001 to Question Id : 258
CAL) Option I_ !FF F2 are the forces whose. resultant is required to be found out. and "8” is the angle between the two forces, then what is the resultant force (R) on the basis of
258004 Ans Opiond
Ay 258001
[:1] 258002
(=] 258003
o) 258004
Question 111
Question Id : 1511
1 THEH 1
Answer Option Id
[FARE-LE
() 1 2t
Q15
: Group-1 :ALP + . (o) 1 e
Single estion
11-Jan-25 Shi‘t Technician 1511 NA NA 1511 D(IlSuCARIDED oonton 111
(ELECTRICIAN) . ) Question 1d : 1511
(B)1erg 51100
{C) Vinch

(D)1 mille
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12-Jan-25

Shift-2

Group-3 :
Guard/Train
Manager

5244

NA

NA

5244

Question
DISCARDED

Question 44

Question Id : 5244

Calculate the exact value of x in the given

following questions.
23x31-= 2
— -9
® 20
®) 33
€22
(D) 35

Question 44

Question Id : 5244

Ru v fArafaf@a et & x&1 w8
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(A) 20
(8)33
(€22
(035

5272

NA

NA

5272

Question
DISCARDED

Question 72

Question Id : 5272

In the following question, select the related letters from the given alternatives

B4TZ:36:: 5631:7

4114
B) 28
€y 32
D) 19

Question 72

Question Id : 5272




